Answers

1)

a) Moog
b) 3009
c) weekl

d) 3

1)

2)

a) 4 weeks and S weeks

b) 12.5kg

c) 20.5kg — $.3kg = 15.2kg

d) (Bkg - 1.7kg) + (8.5kg — 2.6kg) = 12.2kg

He has read where the lines cross over as combined mass. Greg should add together the mass of both puppies.
(9.5kg + 9.5kg = 19kg)

1)

2)

e.g. distance walked by two dogs over 40 minutes. @
e.g. Labrador and poodle ~

e.g. The Labrador walked on a lead for 1S minutes then ran through the park. After 2S minutes,
it had a s-minute rest (maybe its owner was playing on the swings!) before steadily walking home.
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